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Guess Paper – 2012
Class – XII
 Subject – Accountancy
(Change in Profit Sharing Ratio)
Very short answer type questions (1 Mark)

Q-1 State any two occasions when reconstitution of a partnership firm takes place?



(1)

Q-2 what is meant by reconstitution of a partnership firm?






(1)

Q-3 Who is sacrificing and gaining partner?








(1)

Q-4 Explain the accounting treatment of goodwill, when there is change in profit-sharing ratio among existing

       Partners?












(1)

 Q-5 L and T are partners sharing profits ratio 5:3. With effect from 1st April, 2011, they agreed to share future 

        Profits equally. Calculate the individual partner’s gain or sacrifice due to this change?


(1)
Short answer type questions (3/4 Marks)

Q-6 Arun and Varun were in partnership sharing profits in the ratio of 2:3 with effect from 1st May, 2011 they
       Agreed to share profits in the ratio of 1:2. For this purpose the goodwill of the firm is to be valued at two 

       Year’s purchase of the average profits of last three years, which were Rs. 1,50,000, Rs. 1,40,000, and Rs. 2,20,000

       Respectively. Reserves appear in the books at Rs. 1,10,000. partners neither want to show goodwill in the books nor   
      Want to show distribute the reserves. You are required to give effect to the change by passing a single journal entry?















(4)

Q-7 Yasha, Gunjan and Deepa are equal partners. They decided to share profits in the ratio of 3:3:2, from April 1st, 

       2011. on that date, the profit & loss account showed the credit balance of Rs. 24,000. Instead of closing the 

       Profit & loss account, it was decided to record an adjustment entry reflecting the change in the profit sharing ratio.

       You are required to record the necessary journal entry to give effect to the same?



(4)

Q-8 Ajay and Vikas share profits and losses in the ratio of 3:2. With effect from 1st January, 2011, they agreed to share
       Profits equally. The goodwill of the firm was valued at Rs. 18,000. Give journal entry?


(3)
Q-9 L, M and N were partnership sharing profits in the ratio of 4:3:1. The partners greed to share future profits in the       

        Ratio of 5:4:3. Calculate each partner’s gain or sacrifice due to change in ratio?



(3)
Q-10 A, B and C are sharing profits and losses in the ratio of 5:3:2. They decide to share future profits and losses in the 

         Ratio of 2:3:5 with effect from 1st April, 2010. They also decided the effect of the following revaluations without 

         Effecting the book value of the assets and liabilities by passing a single adjustment entry?









Book Figure 

Revised Figure









        Rs.



Rs.


Land and Building 





  5,00,000

    5,50,000
Plant and Machinery





  2,50,000

    2,40,000

Trade Creditors 






     60,000

       55,000

Outstanding Expenses





     60,000

       75,000                                    Pass the necessary Single adjusting Entry.








 (4)
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